ﬁ%ﬂg}ﬁ% TAP SELECTION CHART
g E}L Through Hole

W%

s D % 5i2) INITA2#} work Material
i - = Effective"l'applng%]gth —
LT e e R M o
S vPe s FR |8 oo Ewl Sm| Swm|®wm
R B |25 52 & <150 <250 >25D
- ~055%| 0158 |048%-| SOM
AL A (UHIR) A-POT 643~647| V | 5 |o | o | o | o | o | o] o
A e A-LTFOT 648~650| V | 5 |0 |0 | 0| 0|0 o
e EX-POT 651 ~ 656 5 | o] o| o ololo
S el EX-LT-POT 657~ 660 5 | o|lo|o olo|o
ﬁ’fﬁ%ﬁﬁ%ﬁ% (with OX) EX-H-POT 661 %Of;(t 5 |06 ]o|0| O] 0|0
:ﬁg?aﬁnge%E:g%tion (with OX) EX-LT-H-POT 662 SO{X{' 5 (©) (©) ©) ©) O O O
VIRER V-POT 663 v 5| o|lo|lo|o|o|lo]|o
VLS V-LT-POT 64 | v |5 | 0o/l o | o|o|lo]| o] o
TINR= TIN-POT ee5 |TiN| 5 |@e|lo |loe | olo|l o] o
TNm=ewa TIN-LT-POT 66 |TN| 5 |o | o | o | O |l o]0 O
g Long Shank-for Difficult to Machine Materials CPM-LT-POT 668 5 © @) (@)
z TEWE EX-SUS-POT e69~671| B | 4 | 0 | 0 | O
% ?}Dﬁwes EX-DH-POT 673~674 | | 4 | o | 0o |0 | 0 | O o
z G e T EX-LT-DH-POT 675 |B| 4 |o| o |0 |0 | O o
B e ey oIL-POT 676 |® | 4| o|loo]|o|lo|0]o
For Sheat steels EX-88-POT 6877 %o{;c 5 | O (@
L2 CU-POT 678 |cn| 5 | o | o | o
o i Aleys V-TI-POT 679 | v | 5| 0| o
SRR LIS WHR-NI-POT 680 |HR| 5 | o | O
LAl NI-POT 681 5 | o]0
e HS-RFT se2 |TN| 68 |00 | O] o |lo]o]o
LR J-HS-RFT 682 |TN| 5 | 0|0 | O| 0| O] O] O
L HS-LT-RFT 683 |TiN| 6 |lo|lo |l o]loelo] ol o
i L B VPO-US-POT 6sa | v |5 | o]|lo|o]olo]o]o
A HS-AL-RFT 685 6 |lo|o]| o0
R et US-AL-RFT ese || & | 0 | O
XPFSHELLHE S-XPF 531 2lololo]lololo]|e
i‘fjgjfﬁ%ﬁﬁ,ﬁ% LT-S-XPF 532 v 2|lo|lo|lo|o|lo|lo]|oe
ﬁ ?%Z%Egﬁéﬁﬁg\%ggamupply OIL-S-XPF 533 \ 2 ©] 0| o0|l0o6o|o| oo
£ [f 2z ~
i \esmemm s Tewsn v s Tolololoto oo
- |VPNu-Roll- Long Shank =
5 |VEE V-NRT 543 | v |4 | 0o |lo|o|lo|o]|0o]|oO
:é. . V-LT-NRT 544 v]ialolololoe|lo]|olo
" | Forsheetsteels V-S8-NRT 545 | V | 8 | O o|lolo|o
ﬁfﬂﬁﬁg&gn Minor Dia. (EG-NRT) V-EG-NRT 546 \ 4 © ©) ©
TiN= TIN-NRT 547~549 | TN | 4 | © |l @ |o | o | o | ol o

OX:with OX TiN: TiN coating V:V coating WX: WX (TiAIN) coating FX: FX (TiAIN) coating CrN: CrN coating  N: with Nitride

1. IERBEE—RFZM THSRRE, RIBEBREUNREmHE. 1. These recommendations are general, and may be altered depending on tapping conditions.

2. (E AR AR N T R A0SR, SN TERsEEiIaLat, ol INAR 224, 2 Oversized taps are appropriate when a standard tap produces a thread that is too small, or when
469 3 BTN THRESIEE tapping before plating 3. Always check the required thread limit for the internal thread.



ﬁ%ﬁiﬁﬂg}&% TAP SELECTION CHART

OREGLME OExcellent OIEFIMILLIHE

OGood :\E}L Through Hole g

IATA2%} Work Material
L Em %W "W "5 B |0 m @ O el w3 ce| 0 |EF| 38| TH| S
R
25-9530-48/46-50150~80) sys | skp | sC | FC | FoD | Cu | Bs | BsC | PB | AL |ACADC| MC | ZDC (%i%?ﬁ? f@g‘:
@ (©] (©] @) @} © ojojo|lo0o|lO0| 00| 0] O0
© | O ©| O | o ol oj]o0oj]oj]oOo| o000 0O
O] O] O| OO @) O o | O @)
O] O] O| OO @ O O e @)
O O
©) ©)
O (@) @) © (©) O | O] O] O O O o | O] O @)
O (©) (@) (@] (©) @) (@) (@) (@) O] (@) (@) (@) (@) (@)
@) o | 0| O o|loj]o0oj]oO0]O0O)0O0 0|0 0|0 O
O @} o] O O] O] 0| 0O0]|O0 O O O | O] O ©)
@) (@) O O O O (@) (@) (@)
© O O | €y O [=® (@) (@) (@)
€] (@] O
(@) (@] @}
O O
(@) @)
© o] O] 0| 0| O ©)
©) O
(@) (©) (@) (@) (@)
@ o
o O (@]
O (@]
@) @) © @) (@) (@) (@) (©) (@) @)
O (@) @) @) (@) (@) (@) (©) (@) O
©) (@) o (@] (@) (@) @) ©) @) ©)
@) (©) (©) (©)
@) (@) (©) (©)
© o O (@] ©) ©) ©) (©) ©)
o o* e o|o|o o| o o
© o* @) (@) (©) (©) (©) (©) (©)
(@) o (@) (©) (©) (©) (©) (©)
o e o|o|o o| o o
(©] (@] (©] ©) (©) ©) (©)
(@) (@) (@) (©) (@) (©) (©)
(©) (©) (©) (©) (©) (©) (@)
(©) (©)
©} O ol O] O o | O ©)
4. R E A REREMIR ARSI . 4.TAP LIMIT does not guarantee thread limit for the internal thread after tapping.
51 TGINTRY, TGRS R 1 R PO . fLid for the stainless seels 470



G-LIsTNo. | TH1143
VigE KiREl g

V COATED LONG SHANK

V-LT-POT

=z
2 §
—— —R= } :
THLGTH S
L = &
- s
HSSE v
N g
!’%éﬁﬂlé : M Efi:mm Unitmm ;)H‘J?
[l B SR A TR S 1 IBAK SR 71 1 | AT T | B BmS 1BaRY B AR S TMBAR B 712 B ATk | 7 | B2
(=] HNORN 1 TEC RS PZ S Grade | TAPLimit| @c | LF [THLGTH| LU |DCON|NOF E(x;::\;\ Stock | (@) EDPNO. Thread Size TWLmt | 2c | LF |THLGTH| LU |DCON|NOF th:“n:I Stock | (g)
8316210| M 3 X0.5 100 11| 19] 4 g 1 8316258| M14 X2 STD |OH4 150| 30| 48|105 - 109 .
8316213|M 4 X0.7 100 13| 21| 5 5 16 8316262| M14 X1.5 | STD |OH3 150| 30| 48|105 = 109 W%
8316216|M 5 X0.8 | STD |OH2 100| 16| 24| 55 :l 19 8316265| M16 X2 STD |OH4 150| 32| 52|125 = 151 ?;
8316219 M 6 X1 100 191 20 6 =] 23 8316269|M16 X1.5 | STD |OH3 150| 32| 52[125 = 153 -
8316221 150 5 34 8316272 M18 X2.5 150] 37| 55|14 - 188
8316223 100 5 28 8316275 M18 X1.5 150| 37| 55|14 - 189
x1. oo 2] 3 = @ 5| @
8316225 M 8 x1.25 sTD loH3 P 150 2) 37623 El b 39 8316278 M20 X2.5 5P 150| 37| 58|15 3o e 218
8316232| M10 X1.5 150 24| 41| 7 = 52 8316281|M20 X1.5 sTD loH4 150| 37| 58|15 = 220
8316236/ M10 X1.25 150 24| 41| 7 - 52 8316285| M22 X2.5 200| 38| 63]17 - 367
8316243| M12 X1.75| STD | OH4 150 29| 48| 85 = 75 8316288| M22 X1.5 200| 38| 63[17 = 368
8316247\ M12 x1.5 |STD|OH3 150| 29| 48| 85 - 75 8316291| M24 X3 200| 45| 66]19 - 453
8316251| M12 X1.25| STD |OH4 150| 29| 48| 85 - 75 8316294| M24 X1.5 200| 45| 66[19 - 453 &7
ST - #RERPU5ERR < ik, DRVSiEZ% P63, Ml Please see p.963 for length of external center and shank square length £k and width DRVS. T_ﬂi%
1. BEE BiESINT 2R AR LERIEFEE. (28BP817) 1. The recommended TAP Limit corresponds to JIS class 2 internal thread R4
2. LSRR AR IR RIS . standard. (see p.817)
3. IEHRIES % P.958, 2.TAP Limit does not guarantee thread limit for the internal thread after tapping.
3. Cutting fluid and Paste : Please refer to p.958.
e
B3]

P4

THH G ‘ B o | ag | B9 | o [ E0E BE[FAR],. | BE [T i
o | R | R | 5 S 5 T b g g ee k 3
e wme mowesws R s we|BE e T8 Rhes 12 BHER
owCarbon| Medium | High Alloy Hardened Steel Stainless | Tool Steel | Cast Cast Ductile | Copper | Brass Brass | Bronze Zinc Alloy | Titanium | Nickel | Thermo | Thermo
Steel | Carbon | Carbon | Steel Steel Steel Iron Cast Casting Rolled Alloy Alloy | Casting | Alloy Alloy | Setting | Plastic
Mild Steel | Steel Steel lron Casting | Casting Plastic
BRos C Jamss| C 253535 ~45]45~30]50~60
obredaion \|~025%)~045% 045% ~| M | "hnc”|"hac_| bee | wnc | 5 | SO | SC ) FC [ R | Gu ) Bs | BC ) P ) AL JACADC) MC | 2 e
V-LT-POT | O | O | O | O | O ©|10]0 O|l0O|O0O|]O]O|O]O|]O|0]|0O D | s

| O=FRHEEFER @=Standard stock item. O=4%ERIBEERER  [J=Stocked by specific distributors. Contact us for price & availability. |

WiCSREESEPIN.  Seep.l for explanation of icons. 664



